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Question 1

9696300L Labggd0s?
Select one:
a. bsgommdo.
b. 3196906030 s060.
C. J3965bdomo, d90s.

d. Jodom®o, 99456037960, ge9dE©eo, doMMZO.

Question 2

Mol oMol 1 BTU?
Select one:

a. 1055 .

b. 1055 3.

c. 735 3.

d. 4,186 .

Question 3
3ol 9995096900 doMoMsO gangdgb@gdos:

Select one:

a. fgodso (*80%) s 3gerondo (~20%).

b. §ysemdswo (220%) ©s 3gewonmdo (280%).

C. 30m&0 (R79%) o 79563ds00 (221%).

d. 396305000 (270%) s 3gemomdo (~30%).

Question 4

®> 9J3L LIFIIZLIR FNOMILIIOOIX BORFIB?

Select one:

a. BoAMmbol gsbHol Imeg3wgesliosh MMmogHmddggdol gx39Jdo0.

b. gm@mbol @ogwgdE®ozol 9egdBHOMbmb MMH0gH™MJd9©gdoL 95839JEO.
C. gmA®bob BMA0IODO gHOwwol 5GHMBmMb MMHM0gHMIIggdoL 9539dE0.
d. gm@mbob Bmyog®mo dgEswol gegd@E®mbmeb MOmMoghmddggdol 9i39d@o.

Question 5
B5bsBBg FomImopgboer bdgdsBy HMIgEo 3mboiEos dggbodsdgds LoMdML TsEJd0m Fystml?
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Select one:
a. 4
b. 3
c.1
d.5

Question 6
5 5oL oMol gbgmao0l 30M39wso fgodm?

Select one:

a. ©9s3ofjols Bol go®mdgdm dErmbzol gbgM0s.

b. 58060l (335¢9B5MBOM godmfizgeo 359M0L FolgdOL 35RO IBOL JBIHYOS.
C. ©9s530fol eg30L0 MgMAoL AoMTdgdm 330l 9bgmyos.

d. 3%ob 59mlboggdol 9gbgdyos.

Question 7
0Y) ©9oOO JoMob 969MmRMbsYsM0 3MPsmdl bmdobswwrme Mgg0ddo s 9gdymd Jocol
LoRJo6g 4o0BMEYds 39ds LoBJsMYgdOL Os3sDMBOL BoMAWgddo, 35806 sbsYIMOL Loddersgzmy:

Select one:

a. bsysMo MBsmdsl dgfy39gdL.
b. s 8goggwgds.

C. 9993060©905.

d. 9°50%bMgds.



